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STUDZIENKI SCIEKOWE
- projektowana studzienka wpadowa przy stopie skarpy
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bocznym podkraweznikowym
- studzienka sciekowa w jezdni
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2 2,09

Projektowana
Zatoka autobusowa

®

P 220.00

P

K| - 2|8
S s8|%
O g < > -
O S -
i F—h [am] b e = o~
o 2|a S
S [vT] S = S
N = Is] S| & <
= s |Z|&| |2
8 > S = S S
L = O ~ = P! 7
== |2
L M & m 2
. o 2
b= 52 |38 ol s|e
o = ANn 3 — Sle| e
O —_ k=] k=l h=]
=< = 5
o = <C Lr < =
) & 9 = Q S
) o 1) e 54
- N = a5 a -
. Alﬂ ,% [ee) LOA
> = = = |2
(7)) = 8
nw o @ = | Elele
=== w EREEEIEE
o E me = zZ |5 2% |2|E
5|2s| g 2 HEAEHEEE
C nR/_u = o <] o (@] — m =| =
L =890 5 N ) G|2|&
m& wmmmm m = N |
CREESIEE £IE(E
We|ce |38 F | & S
QG |Hm = S
Os|eo 3 | o
ws & & = = € [gluls|&
==z|.s |« % 2 |Z|E|S|8
g2 |8 3 ke ~ 2 |[=2[2]8|
- D=lg8 |8 Z I EE SEE
=
: Lez'0 |sozee L zg'9ee L 00°00G+)
- L2000 |96°9¢C L 68'9€2 L 00°GLP+)
2.00%
Lzoo | L z6'9c2 L 6°9C7 || () -, |
1800 | L 18'962 L 56'9¢2 L 00°051+1
LgLo | L 8°9€2 L 96°9€Z L 00°G2h+L
| | | 02:9cZ | | 02°9€2 | €27 101+
. F100 FOL 92 £ 69°9€Z F 0000+
o]
N
~
[s2]
D
: LoLo |v9oee L 5 962 L 00°GLE+)
e
S83g
RN R
ﬂzzm
: LeL'o S99 Luun_m L 25 9ee L 00°05€+)
2.00%
- FEL0 L2 9gT | 86'9c7 | | Gz
: L€L'0 |zioce L 659 L 00°GZE+1
- LzLo fosose b L $9°9€Z LezoLe+l
- L P10 |89 L0.°9€2 L 00°00€+1
o
S
oM
[@X0e)
wi
- LGL'0 2692 L2897 &~ toosie+l
L L510 |60°282 | ¥6'9¢2 | 00°05z+1
- LoLo [oizge b F¥6'96C | 2.00% [ SO'8vC+l
L Lozo eliee L £6°067 |l | cGoc17 |
- Lez0 |o0zL€2 L 16°9€2 L 00°G2Z+1
- Lo flziee LglL/€2 L 00°00Z+1
8
888g
- [L00 1628 | B0 S 18TLeT L00'GLL+1
:%h1
LLL__
x
: Loz’ 0 |lzige 10262 L 00°05L+1
. Les0 flziee L 8 96z L 00'SZL+L
L 1880 LLL'/€2 | £2°9¢€2 L 00004+
- Leg'0 [olZ€z | L 229 L 60860+
N
N
~
®
- 180 | 6692 L 81°9€Z I L00GL0+L
- 1690 9892 L /1792 L 00050+
: LS50 |FvLoee L 0z'9e2 L 00520+
: L1v'0 FlLogee - 1°9€Z - 00°000+1
- Lev'0 |6Y9ET - 90°9¢€Z L 00°626+0
- Loe'0 |929¢z - 009€Z - 00°056+0
2.00%
L | y2:.0 | Sz9se | 10°9E7 | i | 0£°926+0
. Fec0 FPeose FL0°9€¢ F00°626+0
- 1900 Li'9ge L G09€2 L 00°006+0
- 1800 | 66GEZ L16°Ge2 oo [00°6/8+0
om
oM
0O
- Loro |gesee | L 68'6e2 o L 67°998+0
%L
- Loz0 |886ez L 89°GeZ L 00°068+0
2.00(%
: ke rERgEs FGSET ° L 00°Gz8+0
- 610 [£8°G¢C [ €9CE¢ |t | 550 )
OOOW
- FGL0 Fv8seT (S228 | e9see -00°008+0
ITRKO
o
bl
h'd
. LoLo |Lesee L1862 L 00°522+0
™
©
N
i
- 1200 |09z L 2092 = 10005.+0
L LyLo Lezoge | | 60:9£7 | 61792/ +
S A 2 2t -60-855 8525518
2.00%
L | 220 | gvosce | 81°9ST | i | 82°10/+0
. F/20 Forose F6L'9cC £ 00°00£+0
- L9e'0 |69°9€2 L e€9eZ L 00°629+0
o<
SN
3Kk
ol
Vo i}
L Lge'0 |169eg L egr9ez &  }00059+0
2.00%
L ey |Lyllee L1292 | 00'529+0
c FEp0 FGLIEe FZ1 06 |l | ¢C-C701()
- L0 |ogLeT L 669€2 L 00°009+0
- LYo |6G°LE2 Lgl/€2 L 00°G25+0
VN
N
O
I M
R | P
- Le0 |L8lee Lyt 62 L 00°055+0
- L ¥€'0 | ¥0'8€Z LoL 262 L 00°625+0
- L0e0 |9z'8eT - 96°€2 - 00°005+0
- 1820 |6¥'8€T L1282 L 00°S.1+0
- Loz'0 FLl8ee L Gv°8€T L 00°0G1+0
- L0Z0 |¥68€2 L 11°8€2 L 00°G2H+0
| | #L°0 | 9162 | 2062 | 00°00%+0
= FyL0 FZL'6EC b £ E€0°6EC F86°86€+0
- LLL'0 |8e6eT L 126€2 L 00°GLE+0
: L21'0 |i66ET Lot'6e2 - 00°0GE+0
OOOW
S8o8g
338
Suan 8
byl
x
. Lez'0 |si6ee L z5'6EC L 00°5Z€+0
[s2]
©Q
Q
[(e]
I
- 1620 | 066€2 L1962 = 10000€+0
- Lez0 FLoove | L €1°6€2 L 86'8/2+0
- /20 €00z L 9/°6€2 L 00°G22+0
- L/20 folove L 68°6€Z L 00°062+0
: Lez'0 |8zove L 50'0vC L 00°522+0
- L1Z’0 FLyove -0z 0vZ - 00°002+0
- L6L'0 €50V L ye e L 00°GL+0
- L0 [99°0vT L 6Y°0vZ - 00°0GL+0
- L8L'0 8.0V - 09°0¥Z L 00°52L+0
- L8L'0 [LeOve Le20vZ L 00°00L+0
- LLL'0 FE0' e L 26072 L 00°G20+0
- LoLo Fl0Lpe b L 16°0%2 L €2°/90+0
- 1800 el e LGS0 LYE L 00°050+0
(]
83889
S99y
© NP NG
o
-85,
: Ly0'0 FELive L 60'LY2 L 00°520+0
- L1100 [20'LYE L90'L1e L €2°200+0
2.00%
- - FE0LYT | L €017 |l | ()000+0
gl g & 8] 8| %
S| > ¢ 5 Kooy £ =
=Y z > 2 N e
g c L < c o) S
NS} O % % ﬁ Q. b
N N7} — — = ¢
81 © o) Q o X X
~ X — — C =
2l 8 5| 2 % 3
o o)
o8 > c o) N mwm
= = o c 1 d 3
O o3 o e
m a o
-
>
N




